J S

a

207F

S
0
K

B 0 0 R 0 B o 0 e o e e o e ] o e o

%

&

2

alp! ool (5590
S35 Sl ke W jl3g
IS Pigel i plojl

\yay ,Jl.w_ J}‘é a:.w”b ..\.fbﬂu.wu)u ‘SLGD),O K999 u,.o)i

[ OYFY) oS = Sizio o>)5b j

A3 140 1 o efiwl D I LA LR | o a!.,\:a“’l

OV lgw 5)les g Slows o JSlaiol Slas laas

Ay ok ’v‘ «.Ogu g0 00! CSlaw Sguv ZOLe! SLLLINS (ST
aviyis avd4 (o)) gt plal

Slen U | Syledd 3 | Jleww Slass - ESPLR W 9,

Y. \ Y. (aalSil) puaaiti g o908 b3 \
sbre Jleo (prie 2lb Ju) s 2lb o8 (e

Fo n ra we (21l ey Sl Jludl 518 pmiiga (e | ¥
(e ol anals |\ axio Sy o pas dladdl 3 U3y

Ad 57 £ B B 2 50 LD Gl 9 o) ake b g SR b |
(oMl e o Lol b g o, Jaio ol b

1. AP Ya b alu s i) 9 olge (silwae) adyi g ol Wlge .
(awais g S0 3 23

ROPWE A E M .,.L..>&,..:.La Hleataiu! 2,10 U“" 5y U"’)i Cﬂ'

Bygn 1 S el onbliin b g ail e e e sl 300 Ll Byl 3 A olondl paled 1 sope 3T (55158 2 3 g (iony SS9 ) iy 5 8 0 T A g 5 ik 3

R S S e e et VY AY [ R R o R o

2

&




Y axawo 207F (1YFPY &5) e 215k O"’ji

ol (19031 dds 10 Lol jgea pus & jods (b3 Joua Ol jade 10 Lasl § Glakie 730 pos ool )5 Llbgls ¥

sitlad g a5 oysas] il Kailler 38 ussisciminin cillogtachylal oo il

.'(Ml) M“, PP ‘_-2_‘2

| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—---- -
by the Keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --------==----- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —---eeeeeeeee issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -—--- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article

that said his company was —---—--—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——----—- ---=, 48 YOU can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.

1) cause 2) halt 3) identify 4) accompany



Y axao 207F (YPY W5) e 2k O").T

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) ——mmmmmmmmv -—, on what we want to consume. and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The concept of industrialized architecture does not in itself point towards a specific
architectural expression or the appearance of a specific (new) architectural style.
Neither can one talk about a distinctly identifiable building typology: it is not about
industrial architecture! While industrialized architecture as a field of research still has
the architectural result as object, it quickly also involves the organization and
production processes. and their industrialization that leads to this result. Architecture
is generally about creating the best possible physical surroundings for human life. and
decisive for the architectural solution space and final result of all creation is not only
the material but also the tools, the related techniques and the organization of people
around these. Rather than dealing with a specific result, industrialized architecture is a
particular way to construct or assemble buildings — and a way to think about
architecture and construction — that, however, has significance for the result: the
finished work or building.
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16-

17-

18-

19-

20-

21-

22-

Which of the following would be the best title for the passage?

1) The Production Process 2) Architectural Typology

3) The Architectural Outcome 4) Industrialized Architecture
Which of the following is true about industrialized architecture?

1) It is about industrial architecture.

2) It is a specific architectural expression.

3) It includes the architectural result as object.

4) It is the appearance of a specific architectural style.

The word “distinctly” in line 3 is closest in meaning to —=—-eeeeeeee-

1) reliably 2) markedly 3) chiefly 4) basically

The word “it” in line 5 refers to ——--—-eeeeaeeee,

1) field 2) object

3) architectural result 4) industrialized architecture

The passage refers to all of the following as decisive factors for final result of all creation
EXCEPT --mermmmmnmee ;

1) assemblage 2) material 3) techniques 4) tools

PASSAGE 2:

A concept widely used within the production industry when discussing design issues is
product architecture. According to Ulrich and Eppinger the “product architecture is the
assignment of the functional elements of a product to the physical building blocks of
the product.” In order to reduce the complexity of a product (architecture). the
different physical elements are assembled into a number of major building blocks that
often are referred to as “chunks.”™ This division into a number of major constituent
elements — the chunks — is often called modularization. The functional elements are the
different functions that together constitute the overall performance of the product. For
example. a mobile phone some of the usual functions are emitting and receiving sound
(i.e. conversation). displaying the status of calls and other information, storing contact
information, protecting sensitive electronic parts, etc. whereas the corresponding
physical building blocks for these functions are loudspeaker. microphone, L.CD-
screen. memory unit and casing. The relationship between the two genres of elements,
however, is not necessarily one to one: where each building block can encompass
various functional elements. the performance of a functional element can equally
comprise several building blocks. These are cases of integration — integration within
chunks or integration across chunks. The opposite is modularization — clear physical
separation between different functional elements.

What is the passage mainly about?

1) Complex Products 2) Production Industry

3) Product Architecture 4) Ulrich and Eppinger

Which of the following is NOT one of the usual functions of a mobile phone?
1) Receiving sound 2) Memory unit and casing

3) Storing contact information 4) Displaying the status of calls
According to the passage, which of the following are opposite concepts?

1) Division and separation 2) Assignment and integration

3) Separation and modularization 4) Integration and modularization
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24-

26-

27-

28-

29-

30-

“The two genres” in line 13 refers to -—-——-—n- -
1) chunks and building blocks

2) physical elements and building blocks

3) building blocks and functional elements

4) physical elements and functional elements
The word “encompass” in line 14 means .
1) cover 2) assist 3) enable 4) provide

PASSAGE 3:

Thomas Feichtner is an internationally established product designer. He was born in
Brazil and grew up in Austria. He studied industrial design at the University of Art and
Industrial Design in Linz. He designed numerous products for international brands
such as Swarovski, Bene, Adidas, Head, Absolut, J&L Lobmeyr, Neue Wiener
Werkstitten, TON and Carl Mertens and realized projects in cooperation with
manufactures such as Vitra, Thonet and FSB. His work is positioned midway between
industry and handicrafts. mass production and one-of-a-kinds. International exhibitions
at the Triennale di Milano, the International Biennial of Design in Saint Etienne, the
Austrian Cultural Forum London as well as the MAK — Austrian Museum of Applied
Arts/ Contemporary Art in Vienna followed. His work was honoured with
international design awards and have been acquired by various design collections. A
personal monograph “Thomas Feichtner — Edge to Edge™ was released by the MAK —
Austrian Museum of Applied Arts/Contemporary Art and published by Birkhiuser in
2010. From 2009 to 2014 Feichtner was a professor for product design at the
Muthesius Academy of Fine Arts and Design in Kiel, Germany and in 2011 he was
awarded by the Austrian State Award for Design. He lives and works in Vienna with
his wife Simone.

What is the passage mainly about?

1) A personal monograph named Thomas Feichtner — Edge to Edge

2) Thomas Feichtner’s achievements as a product designer

3) Well-known international brands

4) International art exhibitions

The passage provides sufficient information to answer all of the following questions
about Thomas Feichtner EXCEPT ---eeemeemeee,

1) where he lives now 2) where he was born

3) where he was educated 4) how many children he has

According to the passage, Thomas Feichtner designed products for all of the following
brands EXCEPT

1) Adidas 2) Absolut 3) Laufen 4) Swarovski
The word “positioned” in line 6 is closest in meaning to ——---=-veeeeee- :
1) located 2) collected 3) measured 4) appreciated

When did he receive the Austrian State Award for Design?
1)2014 2)2011 3)2010 4) 2009
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